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Coordinate Geometry -

The Line

Section 11.4 The equation y=mx+ ¢ @

( Example 1 )

Find the slope of the line 3x — 2y — 9 = 0.



(Example 2 )

Cistheline 2x —3y +6 =0 andkistheline 3x+2y—4=0.
Show that € is perpendicular to m.

Exercise 11.4 - / e
1. Write down the slope of each of these lines:
M) y=3x+5 (i) y=2x—3 (i) y=1x+4
m=3 m=2 slope - )
o ; =
(jm'ﬂw?" s 9 whorcept -3 w
(o,f) C o',J) 3 !V\mw



1. Write down the slope of each of these lines:
(i) y=3x+5 (i) y=2x—3 (i) y=3x+4

2. Write down the coordinates of the point where each of the lines in Question 1 above
intersects the y-axis.

Pg 216 .
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3. Express each of the following lines in the form y = mx + ¢ and hence write down the
slope of the line: Rearramgc
i) A+y—4=0 (i) 3x+y—5=0 (i) 2x+3y—7=0

X 0,-‘-|=-X -X

Slope =-|

(iv) 5x —=2y+3=0 (v) 3x+4y—2=0 (vi) 3x—4y+6=0.



4. Expresstheline (:2x+3y—7=0 intheformy=mx+ c
(i) Write down the slope of ¢.
(i) What is the slope of any line parallel to €?
(iii) What is the slope of any line perpendicular to €?

5. Showthatthelines x—2y+1=0 and 3x —6y —7=0 are parallel.
What is the slope of any line perpendicular to these lines?



6. Show thatthelines 2x+3y—4=0 and 3x—2y+1=0 are perpendicular to each other.

7. If the equation of the line £ is y = 3x — 4, write down the equation of any line, in the
formy = mx + ¢, thatis
(i) parallelto ¢ (i) perpendicularto €.



8. Investigate if the lines y = %x +4 and 2x—3y —5=0 are parallel.

9. (i) Match the equations below to give four pairs of parallel lines:

(B (C) (D)

y=%x+1 y=%x+5 y=—%x+3
o . (G (H
=g5=2

(i) Which equation is the odd one out?

(A (E]

y=%-1 y=9+3x

y=%x+3 y=§x+2 y=1‘%x



10. (i) Write down the slope of the
given line k.

(ii) Write the equation of k in the
formy =mx + c.

11. The lines labelled p, g, and r match these equations:

y=2x+5 yA B

WERT S
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y=x—2

Match each line to its correct equation. /
/7,

<y




12. By finding the slope and y-intercept, *%
write down the equation of the
given line.

0 5 10 X
13. The equations of six lines are given below:
a y=2x—3 ¢ y=x+3 e y=—2x+4
b:y=%x+5 dy=-2x—4 fi y=2x—-2

(i) Name a pair of parallel lines. (ii) Name a pair of perpendicular lines.
(iii) Which line crosses the y-axis at (0,4)? (iv) Which line crosses the y-axis at (0, —3)?



14. Iftheline x+ 2y —6 =0 isparallel totheline 2x + ky — 5 = 0, find the value of k.

15. Iftheline 2x — 3y + 7 =0 is perpendicular to the line 3x + ky — 4 = 0, find the
value of k.



16. Find the equation of each line sketched below:

(i) 7

A

(ii) y

2,7) (4,6)
/] ;
0] % 750 x
17. Which two of these lines are parallelto y = %x — 37
92x=y+10 62y+8=

(A

2y=x+2

(iii)

X

YA

A

/2, 3)

7

©

y—2x=9

xy



Exercise 11.4

1‘
- 8
3.

el

(i3 (i) 2 (iii) 3

(i) (0, 5) (i) (0, —3) (i) (0,4)
y=-x+4-1 (i)y=-3x+5-3
(i) y = —3x + 5 =5 (V) y=3x+33
Wy=—p+3-3 V) y=p+33
y=-%+% O -3} () -3 (i) 3

=2

i y=3x+c (i) y=—3x+c¢

8.
9.

10.
11.

12.
13.
14.

15.
16.

17.

Yes, parallel

() A&E,B&FC&I,D&G

(i) H

(i 2 (i) y =2x+1
r—|ly=2x+5|p—|y=x+5
q—|ly=x—2

y=3x+1

(i) a&f (i) e&f (ii) e (iv) a
4

2

My=2x+3 (i) y=x+2
(i) y =3x — 3

A&C



